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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 408 2) 607 3) 508 4 902
- 261 -168 -117 - 36 2
3
4,
5 508 6) 902 7 608 8 703 >
- 180 =233 - 522 - 295 6
7.
8.
9 808 10) 601 1) 607 12) 709 .
-622 -521 -413 -424
— — — 10.
11.
12.
13) 405 14) 502 15) 405 16) 909 13.
- 187 - 99 - 291 - 205
- - 14.
15.
16.
17) 201 18) 308 19) 604 200 409 17
-123 -115 - 145 —_339
18.
19.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
, 147
1) 408 2 607 3 508 4 902 '
- 261 - 168 - 117 - 36 ” 439
147 439 391 866
3 391
4 866
5 508 6) 902 7 608 8 703 > 328
- 180 - 233 - 522 - 295 . 669
328 669 86 408
7 86
8 408
9 808 100 601 1) 607 12) 709 0, 186
- 622 -521 - 413 -424 20
186 80 194 285 10
11 194
12, 285
13) 405 14) 502 15) 405 16) 909 13, 218
- 187 - 99 - 291 - 205
218 403 114 704 . 403
15, 114
16, 704
17) 201 18) 308 19 604 200 409 - 78
- 123 - 115 - 145 - 339
78 193 459 70 18, 193
19, 459
20. 70
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
669 147 86 186 328
866 114 285 403 391 1.
439 408 194 218 80
2.
1) 408 2 607 3 508 3.
- 261 - 168 -117
4,
5.
6.
4 902 5 508 6) 902
- 36 - 180 - 233 .
8.
9.
) 608 8 703 9 808 10.
- 522 - 295 -622
EE— — — 11.
12.
13.
100 601 1) 607 12) 709
- 521 - 413 - 424 1
15.
13) 405 14) 502 15) 405
- 187 - 99 - 291
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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